

SNR $\left(= \frac{h^2 \sigma_x^2}{\sigma_n^2} \right)$

Def: Linear MMSE

$\min_w E[(x_c(k) - \hat{x}_c(k))^2]$

$\Rightarrow \hat{x}_c(k) = \underline{w}^T \underline{y}(k) \dots \dots \rightarrow E[x_c(k) y_c(k)] = E[\hat{x}_c(k) y_c(k)]$

$w = \frac{h \sigma_x^2}{(h^2 \sigma_x^2 + \sigma_n^2)}$

$\left[\underbrace{h E[x_c^2(k)]}_{\sigma_x^2} \right] = w E[y_c^2(k)]$

$w = \frac{h^2 \sigma_x^2 + \sigma_n^2}{h^2 \sigma_x^2 + \sigma_n^2}$

$w = \frac{1}{h + \left(\frac{\sigma_n^2}{h \sigma_x^2} \right)}$

LMSE

SNR $\uparrow \Rightarrow \frac{1}{SNR} \rightarrow 0$

$\frac{1}{SNR} \Rightarrow w_{LMSE} \rightarrow \frac{1}{h}$

$\hat{x}_c = \frac{y}{h}$ for SNR $\rightarrow \infty$

Result: $y_c(k) = h x_c(k) + n(k)$

Recall : \rightarrow Complex Differentiation $y = h^* z + \bar{z}$

weight $\rightarrow w = a + jb$ \leftarrow $J = \text{sym}(-1) = i$

Appendix B
1 - Analytic

Cost fn. $\rightarrow J(w)$

Definition : $\frac{\partial J}{\partial w} \triangleq \frac{1}{2} \left(\frac{\partial}{\partial a} - j \frac{\partial}{\partial b} \right) ; \rightarrow \textcircled{1a}$

$J(w) = w^* w$ $\frac{\partial J}{\partial w^*} \triangleq \frac{1}{2} \left(\frac{\partial}{\partial a} + j \frac{\partial}{\partial b} \right) ; \rightarrow \textcircled{1b}$

* $\frac{\partial w}{\partial w} = 1 ; \frac{\partial w}{\partial w^*} = 0 = \frac{\partial w^*}{\partial w} ;$ note : For Analytic Functions $f(w)$ $\frac{\partial f}{\partial w^*} = 0$ everywhere ! $\leftarrow \underline{CR}$

Vector Calc $J(\bar{w}) \quad \bar{w} = \begin{bmatrix} w_0 \\ w_1 \\ \vdots \\ w_{L-1} \end{bmatrix};$

$\frac{\partial}{\partial \bar{w}} = \frac{1}{2} \begin{bmatrix} \frac{\partial}{\partial a_0} & -j \frac{\partial}{\partial b_0} \\ \frac{\partial}{\partial a_1} & -j \frac{\partial}{\partial b_1} \\ \vdots & \vdots \\ \frac{\partial}{\partial a_{L-1}} & -j \frac{\partial}{\partial b_{L-1}} \end{bmatrix} \leftarrow R$

using $\frac{\partial}{\partial w}$ gradient

eg: $\frac{\partial}{\partial w^*} (\bar{w}^H \bar{p}) = \bar{p};$ $\frac{\partial}{\partial w} (\bar{w}^H \bar{p}) = \bar{0} = \frac{\partial}{\partial w^*} (\bar{p}^H \bar{w});$

\bar{w} \nwarrow \nearrow \bar{p} \nwarrow \nearrow \bar{p}

not analytic



